BESESAL

202443 1

B ) A & 0 — Rt

20244 8 55 DREHEFEEL I Z DU T

20244 H OELREHE I3 T DB SRS HAm A T
RKEFCHEEETHELZBHALEWLET,

BB CTZE

TEROBVHEEL TBYETOT, AHh%

728, ARIOFEIL, 20234117 ~ 202441 H OE G sHi& ISR ELT-05,
o AL SRR T R 2 3¢ OB B A B L 72H DT,

REBURFIC LD Mt va A - R FFAE IO Ofe &

TR X 12 HE5<

TRV AR R SR T, R PE R IR T LR — T DRERR AL
https://denkigas-gekihenkanwa.go.ip/ #IZHRRIFZX,
(BhiA)
PRI RS A %1
50Hz 1 [X 60Hz I [X 60HZHI[X %2
{|EE S 1.70 ,/kWh -0.10 FJ/kWh —
= E 3.22 M,/kWh 1.46 M, kWh 0.44 ,/kWh
Rl e 4.95 M/ kWh 2.20 M,/ kWh —

X1 B O LB kWG 7~ DR F133.51 .
2 2023447101 E

RS E SN TVET,

Tiekakaak 60Hz X & H RIS 1§V S ET,

(5] B SEROMEG | &4 LR > T2 6 0 20244F4 H OB G5 Bl

T (BiiA)
- S PRy GRS B
(B SR LRI 50HZHEX 60HZHBIX 60H 2 HE X 3%

1’ JE 5.20 [, kWh 3.40 [ kWh —

= 5.02 M,/ kWh 3.26 M, kWh 2.24 M,/ kWh

3¢ 20234 7 1 B AT SRR 60HzZ- X i ) MR 1SR i@ A S E T,




[ RBHEiRS D5 E ]

SEXREHMERE =AX o +BX B +CX vy
(10O AR o, 10 DAL T TLA)

<HE G EHmeE > <R E >
50HzHIX | 60HzHH X
R M (A) 83,374|M "kl X () 0.1970[  0.0275
S JFCEHIT R (B) 98,9281 't X (B) 0.4435[  0.4792
+) SEEIECEHlAS (C) 25,277|M "t X (y)|__0.2512] 0.4275
SEREHMERS | 66,600 60,500
50Hz X | 60Hz X

(R B AR BT DT E ]

PAEHE TR AT = (CEXRBHMERS — ZEYERREMERS) X EHEEL{E 1,000
O3/ MR L N 3L CIUEE L A)

- 3.5 kWh (BB X)

(50Hz 1EJE)

PR RS B = ( 66,600( - 44,200) X 0.232/1,000
[ 5.20[m./kwn

B SRS & 5w 5.2 H,/kWh
= 17mxwn

(50Hz =JE)

PR RS B = ( 66,600( - 44,200) X 0.224/1,000
= 5.02]m./kwh

BUR SR A5 & Sk

5.02 [,/ kWh

L s22fr sk

(50Hz %FBIEIE)

- 1.8 kWh (B 2B %)

PR RS B = ( 66,600( - 44,200) X 0.221/1,000

-3.5M kWh (B R X)

= .,/ kWh

(60Hz 1KJF)

PR RS B = ( 60,500( - 45,900) X 0.233/1,000
- 9./ kWh

BT S ARAE S | & S 3.40 M, kWh
- 9./ kWh

(60Hz &=FF)

PR RS B = ( 60,500( - 45,900) X 0.223/1,000
= 3.26]MkWh

BUR SR A5 & Sk

3.26 [,/ kWh

L L]

- 1.8M kWh (B B %)

Mkl



[ RBHEiRS D5 E ]

MR 20234F4 A 1 H AT ERGF0ER 60Hz - X i £ 0 MRS 1R ki i S b i E
60Hz: Mt X ARF 5l i

SEHREHMERE =AX o +BX B
(100 ARiii D, 10 DAL T TLA)

<HE G EHmeE > < AR S >
60Hz H1[X.

R R (A) 98,928(F "kl X () 0.4381
+) FEECEHmE (B) 25,277|M /'t X (B) 0.5545
SEEREHIAS|  57,400(H ki

60HzHI X

[BRBL 2 SRS AT D5 E |
PO SR Bl — CREIRRBHIAS — ZTERUBHEA) X ZE¥E L, 1,000+ #1755 B
(B 3/ N LA B 3L T FE T A)

(60Hz &=FF)

PR RS BT = ( 57,400| - 42,000) X 0.196/1,000+( 11.79]-19.37) X 10.3%
= 2.24|MkWh

B SR B | & e 2.24 M,/ kWh - 1.8/ kWh (BUfZ#EE5]%)

= 0.44|/kWh

(60Hz ®:RIEE)

PRSI 2 ST B = ( 57,400 - 42,000) X 0.193/1,000+( 11.79]-19.37) X 10.1%
= 2.20|/kWh

Uk



